FIETENECER/N 110 BEEE—2HTEGE

%aézzmﬂr\fi R
= Wwe
*9/1 8 4 1 i% € 3k * % ¥ R Fi
— *9/1 B 5 p URTEARDEREH ) FALE 40 iTA
2913031 1 | 23| 4| 2% | %32BFAh4md & kAL 2 kil 4 A4 4
©) %0/2 - ~> B TR % kX EHRFIZEREL 2P
*9/3 % LR %
*9/6- £~ Fa A FREERFF *x9/8kFEx 27§
EESRXE S FTARE) *9/9 WAt~ p (=€ REFH
_ | KB RE Rk 5% 4 xiE)
el N AT A T B IR R B Oy e 5 9/11 4 5Tit 3t 9/20)
%*9/8 3kfs 1 EFfrAL B £ & 1 * iz & & 38 & SHI50 75 6 B 4
*9/8 %7 F BB %
%9/14 7 # = F ¥ #ea + Hpl *9/14~9/23 310 % 1< %
S22 131415161718 | 2% | (Fw &5 &) *9/17 B §F % p
*9/15 = €4 REXHE KA B B 2k
XEABRIFLLY *9/24 2B A fiEd =
PU |19 (20|21 | 22|23 |24 | 25| =% | *9/21 @ # &=xig » 9/20 sE {2 *%9/25(+ )& P
*9/24~10/8 #kts 71ic % *9/22 #ets 4 EITH %
FH | x9/28 rpE E R 8
2612728129130 1 | 2 | 2% $10/1 7L g & R 4+ ¢
N1 31415167819 | amw| *k10/0- &%1f Bl B4 *10/5 = # &ITER T S F
10|11 [ 121314 |15] 16| & | *x10/12 w & msTs 87 ik *10/11 MA p P B
JUL17 [ 18119 |20 |21 | 22 | 23 | & | %10/19 = & mrTuz 48 ¥ s & *10/22 #E g E LA
JU[24 | 25(26 |27 |28 (29|30 | & | x10/26 § T & s 5]iaH
+ | [*11/4(=2) ~ 11/5(Z ) ¢ %]
@ 31| 1|2 |3|4]5|6]| %= PPy
PL 78910111213 = | k11/97 EBrTEMT R
P14 1516|1718 19|20 | &= | *x11/16 — & mrial v ik
D21 22324252627 | g | x11/23 £ HEBE(T - E )
. *11/30 = & s Ejwin 5 4
f@ 28020 (30| 1 | 2 [ 3 |4 | mm| *k11/30 = # st k5
*12/3 B ¥ < ms ¥
SIS 6 T8[9 10|11 | mam | x12/7= & 53157 ik
Tl 1314]15]16(17 |18 | i
. %12/20-22 = & B ot % 8 ¥ T i A BErige s d
P19 20 (21 |22 23|24 |25 | mim $12/20 51 & % 75230 6
, *12/28 474G D ¥RTE ¥ Z ke il A EFL L
@ 26|27 [ 28129 (30 (31| 1 | mr | *x12/29 B & sz 2w &4 (5 g)
*1/1 ~ 2 i s 12/31 B i
Sl2 345|678 | % | x1/T-Esid AR EL kiF - ~3F o dkis A #rrE 4
*1/10 - ~ = & Bkt ris g *1/11 2 ~= & makfsrri
£
R R R e e R e Rl v e Ve R 5 $1/12 3 At 15 - 8 3k
¥1/1T- 2+ it Bhts- 3% xI0EERTEDRPTHF K
L1617 (18 | 19120 | 21 | 22 | £ | *k1/19 8 % fir § &k AR R 23 B = F L Y
[%1/20(z ) ik £
KRFREFEMEPERLT ERFEREHFNGD > M FEHIELTTARESL o




